
clgjfo{ gub 

df}Hbft 

j}wflgs t/ntf 

cg"kft

ljkGg ju{ If]q 

shf{
sf/jfxL s}}lkmot

1 g]kfn a+unfb]z a}+s ln= k|yd – – 6,77,920÷79

2 ;g/fOh a}+s ln= – – –

zL#| ;"wf/fTds 

sf/jfxL 

ljlgodfjnL, 

2064 sf] 

ljlgod 3 sf] 

v)*-s_ adf]lhd

2070 efb| d;fGtdf tf]lsPsf] 

Go'gtd k'¤hLsf]if sfod x"g g;s]sf]n] 

ldlt 2070÷9÷11 sf] kqaf^ 

sf/jfxL ePsf] 

ldlt 2070÷9÷17 sf] kqaf^ 

sf/jfxL km's"jf ePsf] .

– – – – – – – –

1 lsi^ a}+s ln= – – –

zL#| ;"wf/fTds 

sf/jfxL 

ljlgodfjnL, 

2064 sf] 

ljlgod 3 sf] 

v)* -v_ 

adf]lhd

a}+sn] 14 dfr{ 2014 df k]z u/]sf] 

cf=j= 2069÷70 sf] k|f/lDes n]vf 

k/LIf)f k|ltj]bg cg";f/ 2070 cfiff( 

d;fGtsf] k'¤hLsf]if / 2070 ;fpg 

b]lv kmfu"g dlxgf;Ddsf] ;dfof]lht 

ljQLo ljj/)f cg";f/ tf]lsPsf] 

k'¤hLsf]if 1=12 k|ltzt b]lv 3=23 

k|ltzt ljGb"n] sd ePsf]n] ldlt 

2071÷2÷19 sf] kqaf^ sf/jfxL 

ePsf] . 

ldlt 2071÷3÷15 sf] kqaf^ pQm 

sf/jfxL km's"jf ePsf] .

1 u|f)* a}+s g]kfn ln= – – –

zL#| ;"wf/fTds 

sf/jfxL 

ljlgodfjnL, 

2064 sf] 

ljlgod 3 sf] 

v)* -u_ 

adf]lhd

2071 cfiff( d;fGtdf tf]lsPsf] 

Go'gtd k'¤hLsf]if  5=93 k|ltzt 

ljGb"n] sd ePsf]n] ldlt 

2071÷5÷18 b]lv sf/jfxL ul/Psf] . 

k|yd qodf;

bf];|f] qodf;

t];|f] qodf;

rf}yf] qodf;

cfly{s jif{ 2070÷71 df g]kfn /fi^« a}+saf^ æsÆ ju{sf Ohfhtkq k|fKt ;+:yfx? -jfl)fHo a}+s_ nfO{ 

ul/Psf] sf/jfxL ljj/)f

qm=;+= a}+ssf] gfd k^s

sf/jfxL ljj/)f
xhf{gf /sd -?= df_ zL#| ;"wf/fTds sf/jfxL


